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A i) Ttk ~His| BLAL T T E EE | EE | Uil
DIP-GX FA Z
[EKE 675 | m
(GX-P) (G-GX)
1.573 0.850 | 2.423 | 1.577 2
(G-GX)
3.190 | 3.190 | 0.810 1
/N F 4 K 5.613 | 2.387 3




DIP-GX ¢ 75 BIEFHE (4/4)

PO k| BAAT A MR | FRE | Uil
DIP-GX (GX-G) (G-GX)
EKES 675 | m 1.541 2.315 | 3.856| 0.144 2
(GX-P) (G-GX)
3.014 0.801 | 3.815| 0.185 2
(GX-P) (G-GX)
1.923 1.563 | 3.486 | 0.514 2
(GX-G) (G-GX)
3.000 0.998 | 3.998 | 0.002 2
(GX-P) (G-GX)
1.439 2.347 | 3.786 | 0.214 2
(GX-G) (G-GX)
3.000 0.770 | 3.770 | 0.230 2
(GX-P) (G-GX)
1.419 1.363 | 2.782| 1.218 2
(GX-P) (G-GX)
2.018 1.363 | 3.381| 0.619 2
(GX-G)
3.291 3.291 [ 0.709 1
(GX-P) (G-GX)
2.000 0.998 | 2.998 | 1.002 2
N E 10 35.163| 4.837 19
& Bk 14 40.776| 7.224 22




s EARE | EKE | BKE | BKE | BKE | BKE | BKE | BKE | BKE | EKE
FEHIXE | FEABIE | FEMIXIG | FEARIT | REMEIX | REARIKIL | FEMEIXIM | REARIIN | REMEIXIA | FEAEIXB
EEE 675 675 675 ® 75 675 675 675 75 75 75
JAE - <TA o
1 1 f& 1)
M35 H=100 1 1 5
vy ay il
$ 500 H=200 1 1 1
vy ay il
$ 500 H=100 1 1 1
vy ay il
$ 500 H=200 1 1 1A
vy ay il
$ 500 H=40 1 1 1A
X BT oz
A H 2

K - ~TiE




ERFE MHEL
& Ttk Hifir B % SIRLE
==N
<ZBEFREE H=0. 70mfH > & Pt
M3
ERAERE L A7 500mm X H100 (S0
by oyl
LR ERE T ERE ¢ 500 X H200 (L5
by oyl
ELIFERE L HEREE ¢ 500 X H100 T HIT
by oyl
ERAERETL THBEE ¢ 500 X H2300 &= AT
by oyl
LI ERE L JEEBR ¢ 500 X H40 S0
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T f& 4 B AN R - 5 AT iy fi
7.+ T & SO K

Ashithy -

EAEE) T T t=15cm%ET m 37
BEHD AR EEEEEIRDA

B B T BHO. 28m3, t =15cmPL T m2 11
DT 4 t#& BHO. 28m3F&IAL=6. 5km

AsiE il T As7k m3 0.4

JA g { Asi t 1
+-#

PR T BHO. 28m3 m3 9
B AR

A2 N T B HO.28m3 & L /\§5/E m3 4
£k +

FAEHMRET B HO.28m3 & L /\§5/E m3 2
DT 4 tf& BHO. 28m3F&HIAL=2. Okm

B s T +w m3 6

JAg - { e+ m3 6

8. (NAHMEEINT | ¢ 50MIKE

NTT W=1. SmAT  fon” Bi5

FlEEE T (HhiE) RC-40. t =15cm HijH m2 11
NTT W=1. SmAT  fon” Bi5E

HERET (fiE) M-30, t =1lcm HH m2 11
NTT W=1. 4mAiG A AN

EI A FAEBRIEE A2y, t =3cm  HE PK-3| m2 11




T. fE 4 P i 2 N MR - AT A i
9. WET <HEk>

EFJZHPPE ¢ 50

EF A5 B ¢ 50 X5, 000 N 20
EFiEE (W) ¢ 505, 000 A 7
EFjsA” /1 $ 50X 90° 1] 1
EFfiZA" v} ¢ 50Xx22 1/2° & 7
EFfiZA" v} $50X11 1/4° 1 5
EF s v $ 50X 90° & 1
EFHZA /1 ¢ 50X22 1/2° 1 1
EFH A"/} $50X11 1/4° 1 1
EFY)Jry b ¢ 50 [E] 1
EF75.y" 44 ¢ 50 GF 7.5K 5 1
EFE L D A7 by 8] F [ ¢ 50 5 1
(AR-IE A

RWOKEIT T ¢ 100 (HPPE) X ¢ 50 7.5k RF A 1
~I)VFHA v b ¢ 75 e 1
Kb - FEAIEDFy b M16 A 1




4 PR AR N =
HRT —7 HPPE ¢ 50 134. 1
B HEERY -] W=150mm 2fZH7IA 133.7
n =740 UA%= 134. 1
<Ahgx L>
HPPE ¢ 50
BhERES
INES A% A $50 133. 2
AEES QUkETF)
)L R T ® 50 1
AERES (10X F)
) xfl Rk T $ 50 50
N VxFL s )T T ¢ 50 14
77y #EE T $ 50 7.5k 1
Y FREE L $ 50 7.5k 1
AWK EAE T HPPE ¢ 100X ¢ 50 1
EHT-7" T HPPE ¢ 50 134. 1
MR F Ry — FEUST T W=15cm, % 7"V, 50m/*%& 133.7




T i 4 R R N R - AL iy i
10. =T ¢ 50K AE
A <AL= H=0. 70mf > £ T 2
PR HiE175 H=150 E 2
by ay il
|- R $ 250 H=150 1] 2
by ay il
T EREE $ 250/ ¢ 350 H=300 e 2
by ay il
JEEAR $ 250 H=70 & 2
HE T <ftH)Fp=  H=0. 70mH > &P 2
M1 5
)RR E T 7 250mm X H150 {1 T 2
by ay il
HUfEsRET - EBEE ¢ 250 X H150 £ PiT 2
by ayl
oI ERET T EBRE ¢ 250/ ¢ 350 X H300 i T 2
by ay il
e E T JEEAR ¢ 250 X H70 &1 T 2
1 1. @K T ¢ 50BLKE
& 800LL
K ERER T BEE% A &G U TRk B AN B H 0.3
1 2. RiwmikEg A 14




T TEEFHFR 650

H + T % BT
+T22 +T23 | AWk
DP:07O DP:112 j:IE4 = IR TNI= N
& Tk~ it | R
HPPE HPPE DP=0.70
¢ 50 ¢ 50 ¢ 100X ¢ 50
< +T.>
Ashiys—
YW T t=15cmET 31.64 2.00 3.05 m 36.69 37
BEHD A SR (E BRI AA
TSR EEL T BH0.28m3, t=15cmPL F 9.49 0.60 0.58 m? 10.67 11
DT 4tf& BHO.28m3f&IAL=6.5km
Asi i T Asi 0.38 0.02 0.02 m’ 0.42 0.4
LGy Asi 0.89 0.05 0.05 t 0.99 1
+b
PEHE T BH0.28m3 7.78 0.74 0.56 m® 9.08 9
42k
A ANB R T BHO0.28m3 2./ ST 3.37 0.21 0.30 m’ 3.88 4
£k 1
FATHRE T BHO0.28m3 Z. /SEME 1.99 0.38 0.12 m® 2.49 2
DT 4tf& BHO.28m3f&EIAL=2.9km
i TR T LA 5.57 0.32 0.43 m’ 6.32 6
WAy VRt 5.57 0.32 0.43 m® 6.32 6
iR H=2.0m
+RT RIS 1B m




TH H + T OF F LAY

+T22 +T23 | KWKo

DP=0.70 | DP=1.12 +T24 G AT RO
) TR~k § ORI
HPPE HPPE DP=0.70
¢ 50 ¢ 50 ¢ 100X ¢ 50
<EHEUEIHT >
ANF7.W=1.8mAHili Aoz E
FEEAR T (HiE) RC-40.t=15cm HijH 9.49 0.60 0.58 m> 10.67 11
ANFT.W=1.8mAHili Aoz E
FERAE T () M-30.t=1lcm H& 9.49 0.60 0.58 m?2 10.67 11

ATT W=1AmE AN AN
*KET FEERIEET A2y, t="3cm B PK-3 9.49 0.60 0.58 m 10.67 11




T TEREHE 650

H H SiE
S RA(10) | ifedm b Hifor
A Tt~k R (11) | Fmiksmtrm !
HPPE ¢ 50 m
+ 122 D=0.70 15. 82 15. 82
HPPE ¢ 50 m
+1.23 D=1.12 1. 00 1.00
¢ 100X ¢ 50 &
AWK+ 124 |D=0.70 1 1




+1T 22 HPPE ¢ 50 + T ¥ & i B & 1.0241

Im¥%4 Y -1 A4y N
W I 1‘ I =
7S X il i a1l S Y Bl % &
HPPE 50 40 0.70 m
¢ T
AshR Ay 42—
TTHE L TIEESFELY = 15.82 m ||&hEgmr T t=15cmET 2 X 1.0 2.0] m 31.64
1] e = 0.70 + 0.06 + 0.10 — 0.04 = 0.820 m R AR R [ I FEA
B A AN =0.20 + 0.06 + 0.10 = 0.360 m |[AspiEEEL T BH0.28m3, t=15cmLLF 0.600 X 1.0 0.600] ™ 9.49
R 7%+ =0.04+0.82-0.36 - 0.29 = 0.210 m
AsHERALER T, 0.600 X  0.04 0.024] ™ 0.38
AsFRALEE T 0.38 X 2.35 0.893| 0.89
£ Al | REA T H ,
HEEI T BHO0.28m3 0.600 X 0.820 0.492| ™ 7.78
SERMEL TLT REI FHES
AR (B RS :
= N /s B AN 0.600 X 0.360
T | 2. LT BHO.28m3 %>/ SHifE - 0.003 (Bl HER) 0.213] ™ 3.37
L " Re-40 g & ekt 0.600 X 0.210
ko o LI | K = MR T BH0.28m3 4>/ SHE/E 0.126] "™ 1.99
g g g T z & kLM 221 X 09 - 1.99
Ei% ) - ek LA n 2.21
ﬁ“* S TEk L
AD gl PR AR T 178 - 221 = 5.57] " 5.57
/ /S E -
I / < SR E IR >
T ~ Bl A AR
EKE HPPEG50 / AsF B T.(F38) BRI T A2 t=3cm . PK-3|  0.600 X 1.0 0.600] ™ 9.49
AT W=1.8mAi; AN HRE
R T (FhE)  [REFEREAM-30 t=11cm 0.600 X 1.0 0.600| ™ 9.49
2 AT W=1.8mAi AV NHEE
R PEER 0.060 X /4 =0.003 TrRE T (FiE) |HFAERARC-40 t=15cm 0.600 X 1.0 0.600| ™ 9.49




+1T 23 HPPE ¢ 50 T % & 5 H & 1.0
% 11’1’1%@'1%@?%@ NYYTR . =
» I A | o N =0
7S X il i a1l R Y Bl % &
HPPE 50 40 1.12
¢ w m ctT>
AshR Ay 42—
TTHE L TIEESFELY = 1.00 m |{&f2Ekr T t=15cm% T 2 X 1.0 2.0] m 2.00
07 = 1.12 + 0.060 - 0.04 = 1.240 m PEH 2t R B HIRGA
R A AR =0.20 + 0.06 +0.10 = 0.360 m |[AspiEEEL T BH0.28m3, t=15cmLLF 0.600 X 1.0 0.600] ™ 0.60
WEYE  ER1=0.04 + 1.240 - 0.360 — 0.29 = 0.630 m
AsHERALER T, 0.600 X  0.04 0.024] ™ 0.02
B & | {®ER AsiALEL T 0.02 X 235 0.047| ° 0.05
+wp H
PRI T BHO0.28m3 0.600 X 1.240 0.744] ™ 0.74
BERREL T% EET BHEAS
g s | /s
Y D |2 o B AN 0.600 X 0.360
o TR0 g S o MR T BH0.28m3 4>/ SHE/E — 0.003 (Al ERR) 0.213] ™ 0.21
| | R = 1kt 0.600 X 0.630
& § m”‘—‘ Tt g ® MR T BHO0.28m3 4>/ SHA/E 0.378] "™ 0.38
igﬁﬂ‘ : o kR LH 042 X 09 = 038
e = 1% L3 ) m3 0.42
A 8] TR
i = PR AR T 0.74 - 042 = 0.32] ™ 0.32
PN §
Or—F42 A )
R < AT T >
EKE HPPEGS0 / BOE NS AVEIAY
AsF B T (H3H) BRI T A2 t=3cm . PK-3|  0.600 X 1.0 0.600] ™ 0.60
AT W=1.8mAi; AN HRE
R T (FhE)  [REFEREAM-30 t=11cm 0.600 X 1.0 0.600| ™ 0.60
2 AT W=1.8mAi AV NHEE
R PEER 0.060 X /4 =0.003 TrRE T (FiE) |HFAERARC-40 t=15cm 0.600 X 1.0 0.600| ™ 0.60




RS +T24 ¢ 100X ¢ 75 H & H H & 1T
% B HAK -~k HAL| # &= 7 HoOK GBI L&A

<+T>
AshR A4~

Al L t=15cm* T m 3.05[0.80 X 2 + 0.725 X 2 = 3.050 3.050
PEHI A SR B HIRA

AsFREEEL T BHO0.28m3, t=15cmPA T m2 0.58 [ 0.725 x 0.80 = 0.580 0.580

AsHRALEE T m3 0.02 0.580 X  0.04 = 0.023 0.023

AsHRALEE T t 0.05 0.023 X 2.35 = 0.054 0.054
+w

PRH T BH0.28m3 m3 0.56 | 0.725 X 0.985 X 0.8 - 1/4X0.125X0.125X = X 0.8 = 0.561 0.561
2 AR

PR T BHO0.28m3 Z>/\5E m3 0.30 | 0.725 X 0.525 X 0.8 - 1/4X0.125X0.125X = X 0.8 = 0.295 0.295
E3k+

PR T BHO0.28m3 Z> /S5 m3 0.12 1 0.725 X 0.21 X 0.8 = 0.122 0.122

ER A 0.13 X 0.90 = 0.12
ER A m3 0.13 0.130
kA

Fe R T m3 0.43| 0.561 - 0.130 = 0.431

<EfEERE IR L >
HIE NS AN

AsFJE T(FH) FABRIEET A2 t=3cm m2 0.58 ] 0.725 X 0.80 = 0.580 0.580
ANTT W=1.8mAS 4V R

) T (HE) BLEE I AAM =30 t=11cm m2 0.58 | 0.725 X 0.80 = 0.580 0.580
AT W=1.8mAii 4o E

T A T (BGE) HAMARC-40,t=15cm m2 0.58 | 0.725 X 0.80 = 0.580 0.580




RWFASSIE L T@ ¢ 100X ¢ 75 B & B H #E LT 240

S
& &l =& I8
HERIUEL o = o REI BHEAS . 725 .
S’ri As =l
R 4 . . 4 & Qp
Rit-30 g o 5 } i }
[=>] o el [
RC-40 g - z PR
s S
g g fit o H o S ! e
= & o] - 2 | — HPPE 650
B2 =i
RESR b 2 g
| %
P © s €]
f #34% HPPE§50 2 . )
R .

RiaxE HPPE@ 100

BRRE
HPPE ¢ 100




FLAKE HE

] i B 4 Egznke 3zl
L , | a KK B R EFAES (7l Ak 750y
A otk -t | | wE = U el el L = LA
EEIX ﬁt HPPE fATH| D%k [HPPE-VP| m¥ | B3k
(11) B o o o o
50 50 50 50 50
EFJZHPPE ¢ 50
FF F=HE ¢ 50X 5, 000 A 15.00 20 20 100. 00 20
LIERE
FFEZE (U)EH) ¢ 50X 5, 000 A | 5.00 7 29. 889
EFf=zA" /) ¢ 50X 90° @ |0.312 1 1 0.312 2
EFfszA" /) ¢ 50X 45° @ 10.212 —
EFjszA™ v/ db0X22 1/2° & 0. 170 7 7 1. 190 14
EFfjszA™ /) dH0X11 1/4° & 0. 170 5 5 0. 850 10
EF A" /) ¢ 50X 90° & 0. 366 1 1 0. 366 1
EF A" /N ¢ 50X 45° & 0. 266 —
EFF &A™ /N db0X22 1/2° & 0. 225 1 1 0.225 1
EFF &A™ /N dH0X11 1/4° @ 0. 215 1 1 0.215 1
EF)ry b ¢ 50 1 — 1 1 1
EF A 3ZSA™ /N ¢ 75 X H300 & 10.670 —
0.183
EFff] 52 -4~ ¢ 50X ¢ 50 & 0. 060 —
EF770y" s $ 50 GF 7.5K & |o. 156|| 1 1 0. 156 1
EF{E L A7 b= 805 | ¢ 50 J& |o. 653" 1 1 0. 653




X 1 1A R 2R
. . o FE K sns T E ERfk T (Bha5) | Mok 2
% W Tk - <t wpr | R A
MR = T Wik g [wepE-ve| n | A
(11) B o o n b
50 50 50 50 50
LAt &
AWK EITFE 6100(HPPE) X 650 7.5k RF| #A [0. 215 1 1 0.215
FACEIT A -HT5 X7 VPHD- | #H |0459 —
PYh =i 5 4oh 75— HPPE - VP44 F { — _
AT 75— HPPEATH | = —
A 650 VpAE | = _
A 50 CIRAE | = _
< IVFH A b 75 b'e — 1 1 1
AN 2 A [ s YRR M16 FH 1 1
T —7 HPPE ¢ 50 m — || 134. 071 134.1
2 R Y~} W=150mm 2{%$71iA m — || 133. 680 133.7
nr=74/)" DAY m — |[134. 071 134. 1
HPPE
7 Bl K 50 [#EE] 134. 071 134. 071 134.071 1 50 1
Wi | 133. 680 133. 680




FAKE AT

4 R Ak - Hik BT B = %g%ﬁg
¥ =

<AEx >

HPPE ¢ 50
RlE S PEAL-G)F ET

&) xF v YR T ¢ 50 m 134.071 - 0.653 - 0.215 133.203 133.2
BEHEA QOMKEF)

&) xF v BT T ¢ 50 & 1 1 1
BEHEA QDMK F)

&) xF v BT T ¢ 50 =} 50 50 50

PIERELD
IS A4 = 5| ¢ 50 =} 14 14 14
757y Wk T $50 7.5k =) 1 1 1
PEfL-E)

Y iRE T $ 50 7.5k PN 1 1 1

AW A H R T HPPE ¢ 100 X ¢ 50 T 1 1 1

EHHF-7T T HPPE ¢ 50 m 134. 071 134.071 134.1

HERF R Y — MEUT T W=15cm, 4 7"V, 50m/*% m 133. 680 133. 680 133.7
»800LAF

B K ERER T RERRAE & i L CRa KR H 134.071 0.3 0.3

X1 H Y72 0 FERFEHES00~2000m




HPPE ¢ 50 H)&HE

P Ttk | AT T B E LR | RE | U
HPPE (3) (3) 3) (3)
[EKES $50 | m 2.353 | 1.293  1.250 4.896 | 0.104 3
(3)
4.750 4.750 | 0.250 1
(3) (3)
1.293 | 3.420 4.713 | 0.287 2
(3) (3) (3)
0.700 0.668 | 1.531 2.899 [ 2.101 3
(3)
4.750 4.750 | 0.250 1
(3) (3) (3)
2.310 0.773 1 0.928 4.011 [ 0.989 3
(3)
3.870 3.870 | 1.130 1
i 7 UN 29.889 | 5.111 14
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ST e aaf
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<f-E1pEE H=0. TOmfH > ik ES 2 o |
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by aydl
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byt avid
R R $ 250 H=200 "
byt avEd
R R $ 250 H=300 I
byt avEd
TR RE $ 250/ ¢ 350 H=300 2 2 1
by aydl
JEEAR ¢ 250 H=70 2 2 1
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vy ayil
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